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72027 JEIH Tk T 1 130323
71035 AR ER N (R BT (AR ; 1. 729g/cm®) 7 500 H00125
e

70040 A R (ARZR; %582, 44g/cm’ ) 7 100

70047 — AR WA (ARZE; SR =98%) 7 500 H00047
70059 1R Gf (ARZE; PHAE6. 5-8) i 250 H00062
70067 R 4 (TE7K) il (ARG FE=97%) o 1000

70070 T R N (ARZR; & =99%) A 250 H00101
70072 it R Wil (ARG FE=99%) I 250 H00102
70087 it PR it Tk (5 =99%) e, 100 H00087
71020 HFR AR Wi (ARZ; =99, 8%) W 250 H23514
71041 AL AR (ARZR; £ =98%) i 250 H40552
71042 K A (ARZ; &8 =20%) =7} 1000 H43634
71045 T 2K R (ARZR; F5#25%28%) o 500 143638
72025 Pk Tk CEE95%) T 55 H30315
72027 I Tk = 1500 130323
73003 T Tk =7 500 130303
73005 P XA (ARZR; £ =99. 5%) =T 1000 H30305
73010 7 AF (ARZ; £ =99. 5%) =T 100 H30311
73016 ToIK L W (ARZR; & =99. %) =Tt 2000 130314
73020 IR LI AF (ARZE; i =99%) =7 1000 H30312
73025 Ji 7 k&R 15280 7300) = 1000 130322
74011 {yis Tolkgk (JfF#:32.06) e, 250 H30361
74012 B2k (& & =>99. 5%) I 500 H30362
74013 ok Tokg (OrFH:26.97) 3 100 130363
74080 Gl 7l (ARZR; & =98%) e 28 H34451
74082 Gl A (AR ; 1522, 99) e, 100 134452
74084 BERY A (ARZ; 5 596%) i, 100

75001 A AL 30% (ARZE; & FE:34. 0D =Ff 100

75002 AR TolkZ% (=99.5%) e 500 123502
75003 5 i PR A (ARZY; %2 . Tg/cm’) = 500 123503
75007 AN BT (ARZR; FrE=>99%) i, 100




76002 At Af (ARZR; %5)E3.856g/cm®) o 100 140551
76013 ERERIA BT (F5E99. 5%) =7t 1500

77001 el RA (ARZR; 5 E:68%) =Tt 1000 H43601
77003 i iR KA CARZR; 5 #95%98%) = 3000 143603
77003 [l TolkZg 5 E95%-98%) =T} 3000 H43603
77011 X Eh R R (ARZ; £ E36%-38%) =Tt 10000 H43611
77011 R Tk g (5 5:36%—38%) =7t 10000 H43611
77096 7 W, 36% (ARZY; #JE (20/4°C) 2Tt 2000 HA3626

1. 049g/cm® )
77026 7.0 KA, 100% (ARZ; ZFE (20/4°C)H 2T 500 HA3626
1.049g/cm’® )

77030 R BT (ARZR: £ 5EE3%) =Tt 100

77032 FEAALN 7l (ARZR; &8 =95%) o 3000 H43632
77032 A Tl (& E=95%) o 4000 143632
77052 g R (ARZ s FrE37%40%) =Tt 250

W)

70047 =Sk Ek A CARZR; &5 =98%) e, 500 H00047
70065 f b AR (ARZR; £ =98%) i, 250 H00065
72025 iR EH (FE75%) =7t 2000 H30315
73005 P A (ARZ; £ =99. 5%) =T 1000 H30305
73016 TR BT (AR Fr=99. 7%) =7t 2500

77032 AEUL R (ARZR: & & =95%) L 500 H43632
75001 A AL 30% (ARZE; 48 :34.01) =Ff 500

75003 R A A (AR 2. Tg/cm’) o 500 123503
77003 iR R CARZR; 5 #95%98%) =7t 500 143603
77011 Ehg R (ARZE; £ 5:36%38%) =Tt 1000 H43611
77026 7. (W) B, 100% (ARZE; BEL (20/4°C) |y 500

1. 049g/cm® )




